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(SO wHPID pridla euyf) / Tamil & English Version)

[ Qurgs wHLQuanser : 70

ST 2i6eTa] : 3.00 werfl CHyw |
[ Maximum Marks : 70

Time Allowed : 3.00 Hours ]
SNleyenrset : (1) oSy Mamméaend #wrs udeurd o drarsm eranugenen sfluTisgs
Qaretarayld. siFaILgedle GopuilmUdien e samasTariiiiumerflLLb

2 Langwrs Qgfellsse).
2) B SoeF SGBUY awlaar wLEGCWL ETWHUSDGWD
2g5CsmyHeaugHGh Lwatu®Ss Ceaucar(d. UL RIS auedreusH S

Quendléy LiweaTI(HSS6, L.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ - 1/ PART -1
GOy : () Siewenggl eanTsaERsEELD efenLwefl&Eayb. 15x1=15
i) Qar@ésuul@drer mremE wrHn oL satld WE&ab ghyenLw
dMeLaws Caip0sHs58 OB denwlenemujid Cargg)
T(LPSEYLD.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. Spser aunsdunismens smiHed Cames.
ushs sTeHHe mrfsiv@w;'f GaiGwib,
() ©opaurer Qawdur® QsTaT_gi.
() eFstugurer msasmpsamer Garppelsdeampear.
(i) s e arQeuall QararL mswsGYTLs®ET 2 (HaTEEGE S,
(=1) (i) wpoIb (i) sRwrerenen gy emme (iii) sflwrengaa.
(=) (i) sflwreng) <yemmed (i) WHMID (iii) sNwreTeney 0.
(8) @) wppd (i) sRwrerencuwde < ame (i) swurearg,.
() (i) sfwrargde <y emme (i) wHmb (i) sflwrarenay.
Consider the following statements.
In spring season vascular cambium :
(1) 1islessactive.
(i) produces a large number of xylary elements.
(iii) forms xylem vessels with wide cavities of these.
(@) (i) and (ii) are correct but (iii) is not correct.
(b) (i) is correct but (ii) and (iii) are not correct.

() (i) and (ii) are not correct but (iii) is correct.

(d) (i) is not correct but (ii) and (iii) are correct.

2. urfl gpsriyeLw Qgd HETEMLILING LSRS®ISD SMHSUILRUSHE STTeRTLD :
(1) pafléCarsans eflanan HenL_CUmeUSTE
(=) seucilarmed @GULLHererg
(@) DNA 2 arengimed
(rF) RNA 2_aeng
Identify the reason for “Chloroplast is a semi-autonomous organelle”.
(@) carry out photosynthetic reactions
(b) membrane bounded

(c) presence of DNA
(d) presence of RNA
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3.  uCamevQuibsafler smapar fa e (maurag) :
(=) SOUDSREGL Ve
(<) s@UDBden Cung)
(@) & auend Gurg
(F) sOUDBSRIES per
In Gymnosperm, endosperm is formed :
(a) after fertilization
(b) at the time of fertilization
(c) along with the development of embryo

(d) before fertilization

4. &Cyreev enGanien - euarsILITL(H (peD ETEILS)

(1) @eriuflerrmo eulfl euenslILTLH D

(<) QEwnens cuenslILTL( perD

(@) Ceudl wperp cuensLLTL{H WD

(F) @Qupes euemsLTLH perD

The Classification system of Carolus Linnaeus is

(a) Phylogenetic system of classification

(b) Artificial system of classification

(c) Chemotaxonomy

(d) Natural system of classification

\Getreu(meLaTaUDMIET eThg Wwep ellens 2 DEsEDS Bés LweatuRgsru@Slanper ?

5.
(1) Gonged FlepsgIHe (<) SAB&s@0E5SD
(@) eengujerm Qsg1650 (F) Gumsmplu emardg)n
Which one of the following methods are used to break the seed dormancy ?
(a) Impaction (b) Stratification
(c) Scarification (d) All the above
A [ HiLiys / Turn over
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6. Qurmess.
SO 65 2 (HOTHDHLD
(1) @Bpw (i)
@) s&psd (i)
@) wrLfleos san® (i)
@) Sprs (iv)

www.freetnbooks.com

(1) (1)), (2)-(), (3)-(ii), (4)-(iv)
(&) (W-Gv), (2)-(i), (3)-(), (4)-(ii)
Match :

Stem modification

(1) Bulb (i)

(2) Corm (ii)
(3) Rhizome (iid)
(4) Tuber (iv)

@) ()i, (2)-(), (3)-(ii), (4)-(iv)
(©  (W)-(v), )-(i), 3)-(), (4)-(iii)

elenpliLipssd 2 e w QFadeied :

sreursdlen Guwm
QareGaflwm

Caenm

gy@alud Fmr

Cleraurend gy LIGTTELD

(<) ()-(i), (-(ii), @), (4)-Giv)
() (1)-G), @), (3)-(i), (4)-Gv)

Plant name

Colocasia

Canna

Allium cepa

Solanum tuberosum

(b)  (D)-(iii), (2)-(i), (3)-), (4)-(iv)
d  @)-0), @)-G), (3)-(ii), (4)-(iv)

(<21) DPD=0 euafl; OP=5 euefl; TP=10 euefl.

(<) DPD=10 euafl; OP=5 euafl; TP=10 cuefl,

(&) DPD=20 cuafl; OP=20 euafl; TP=10 cuerfl,

(/) DPD=0 euafl; OP=10 euafl; TP=10 cuarl.

In a fully turgid cell :

(@) DPD=0 atm; OP=5 atm; TP =10 atm;
(b) DPD=10 atm; OP=5 atm; TP=10 atm;
(c) DPD=20 atm; OP=20 atm; TP=10 atm;
(d) DPD=0 atm; OP=10 atm; TP=10 atm;

www.freetnbooks.com | FREETNBOOKS



10.

www.freetnbooks.com

8 8432

aspE @LCw Cgrg. Garge (fHeammiflev) perQupdpg ?
(=) Quen® @ps GCrmGurGambser
(<a) mRNA wppid evyGunGamibser

(8) o0 W& b G AQuar CHBLEG

() sfiGared Qenpser wHpb e Grmblwiiser
Synapsis occur between :

(a) two homologous Chromosomes.

(b) mRNA and Ribosomes.

() amale and a female gamete.

(d) Spindle fibres and Centromeres.

QragnGorfle o erar B-D GEps&Cardd Q@GS QRETHIL 6T Qe
Weremiiured QevemtasliL’ (Harars.

(1) 13 Qepewriay

(=) N-SifllenLed Lsssmideadger

(8) B-(1, 4) fleven&amans iq& GenewTiiL

(F) N-@fllen e D - GEepsCarsanios

The B-D Glucose units in cellulose are linked together by :
(a) 1-3 Linkage.

(b) N-acetyl side chains.

(c) B-(1, 4) glycosidic Linkage.

(d) N-acetyl D - Glucosamine.

Pran® epessan e GLrGsredlsé NADH + H g sellgnCarppwenL b Curg
grauriseaiier e maur@h ATP gpessapsaiien eramarfisens :
(=1) 6 (=) 3 (@) 8 () 4

During oxidation of two molecules of cytosolic NADH + H*, number of ATP molecules
produced in plants are :

(@) 6 (b) 3 (c) 8 d) 4

[ Hmuiys / Turn over
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11. sflwrereuperpls QurmEs)s.
Sesflomigen uiewfl &6
(1) wrellugerd () udeswid
(2) ZHFHTHD (i) OusHCurafer
@) Ouwéeaiflwwn (i) <2p&EHen
(4) sour (iv) eopLCrredCanev

(=1) (W-v), @)-(i), (3)-), (@)-(ii)
(<) (D-0), (-, (3)-(iv), (4)-(ii)
(@) ()-Gv), -G, 3)-G), (@)-(ii)
() (D)-(i), (2-(), (3)-(iii), (4)-(iv)

Match the correct combination.

Minerals Role
(1) Molybdenum (i) Chlorophyll
(2) Zinc (i) Methionine
(3) Magnesium (iii) Auxin
(4) Sulphur (iv) Nitrogenase

(@) - ()-(v), (2)-(id). (3)-(). (4)-(ii)
®) (-, -(i), 3)-(iv), (4)-(i)
©  @)-Gv), -(), (3)-), (4)-(ii)
(d)  @)-@), (2-G), (3)-(i), (4)-(iv)

12.  pevusd urdlsGarm@® QsryeLw sfwrer &b erg ?
(21) 2L @wgewsé snd BludCagh srenriuBHeudoene
(=) paTeughaETar o mliLseT Boame
(8) LCearmflipwier gren sreiiL@dng
(F) Qs seufler QecrgyGamen sreruuB g
The correct statement regarding Blue green algae is
(a) absence of mucilage around the thallus
(b) lack of motile structure
(c) presence of floridean starch

(d) presence of cellulose in cell wall
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Qo sHead sreurs semgen LpsGarang Cared LGHUID sramiL@nb Ha.

(=) evdlaflQpenengiom (<},) urreensLOT
(@) @Cearryenengiom (rr) Gareenensiom
The tissue found in hypodermis of dicot stem :

(@) Sclerenchyma (b) Parenchyma
() Chlorenchyma (d) Collenchyma

UGS LEFMFLSHD UL aurdLgd sramiu@euddme ?

(1) u&emzwbd c (<2) u&engwId a
(8) véezwb d () uéenswid b
Which chlorophyll molecule does not have a phytol tail ?
(a) Chl-c (b) Chl-a

(c) Chid (d) Chl-b

o el Sl ereng)

(1) vaflar Gastenu, yodla L whmib yssend saflure 2 harag.
(<=t) wefler Geslienu UG saflurs o Heurag.

(@) wafler emarss a.n'_l_ré:a@fn saflung o (Heureug).

(/) wafler Gaslemu wHMID Lol Lid saflwurg o (Heureug).

A true fruit is the one where :

(@) Ovary, calyx and thalamus of the flower develop into fruit.

(b) Only ovary of the flower develops into fruit.

(c) All floral whorls of the flower develop into fruit.
(d) Ovary and calyx of the flower develop into fruit.

@& - 11/ PART - II

GO0y : aemauCugnib gyn eflamméa@Ensd WG elamwellssaub. elam erar 24 -&@

sL_Lmuns eflenLwellésalb.

Note : Answer any six questions, Question No. 24 is Compulsory.

16.

sisrilgaled sremiu@l ewfdwunselda cumsaamas GHLGBs.
Name the types of mycelium found in Agaricus.

“9&Cammensalls” LD el Bidleug wrg ?
What do you infer from the term “Pycnoxylic” ?
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18. Qeeilsmfle gan® creamprd cranat ? o FITaTd HIHs.
What is Phylloclade ? Give an example,

19. graps QeoEiseb, dameg Qsogssn GaLtu edra gGaaib Gram®
Caupur@amar erps)s.

Write any two differences between plant cell and animal cell.

20. ewLLrflevdler gGsed @reRt® AP Haner TS
Write any two significance of mitosis.

21.  evueray, Gomey sleLew Caupudsss.
Differentiate the wood formed in Pinus from that of Morus.

22. yeaé edgerw, yssmnbys Asdonp B@UTED I, PPN PHSEIS
war, safigs yodal b, sallss sdalaur Lib, Gl LF Gaslieou Qsme_

wafler wei Gidrsdamer erpsis.

Find out the floral formula for a bisexual flower with bract, regular pentamerous, distinct
calyx and corolla, superior ovary without bracteole.

23. RNA -aflen auanassener er(pgis.
Write the types of RNA.

24. gray HrrellLGuréE sELILTasaler Lweatsamats GHLIGHs.
Point out the uses of plant anti-transpirants.

u@S - 111/ PART - 111
GOy : srsmu(%w@jm S0 Mleméa(ensE L Hib sﬁ]sm.u.:erﬂasesmm clflen ereir 33 -&xs,
sLLmuwnrs eflenweflése . 6x3=18
Note : Answer any six questions. Question No, 33 is Compulsory,

25. emss smiuyes srdder Gné®s ALITWCY: Carppsdenar L b ey Hl
UNEBISmeTsS &hl&eEeLb.

Draw and label the parts of Cycas Rachis T.S,

www.freetnbooks.com | FREETNBOOKS



26.

97,

www.freetnbooks.com

? 8432

@ pO PrOU®LEED, L BO BrbumbeEEh @ Cw e drar Caugur e s
LTS

Differentiate pinnate unicostate with palmate multicostate venation.

Sy evr un;mazﬂwmm,srrmgggm LT GEGHTID eT(PH DIFEN DI CUTLIL LD CUE]S.

Write the floral formula of Musa Paradisiaca and draw their floral diagram.

sreué Qedseaigib cllonE Qrdsallgib s’ GLransalflev — CaupuBss!s.

Differentiate cytokinesis in plant cells and animal cells.

L Georavser — dmy GOy cuamys.

Write short notes on Tyloses.

sreurgsler s&Crmefiener Gumib @efl§Garsams Qaliwellwer LGdamean Ll iSRS

List out the non-photosynthetic parts of a plant that need a supply of sucrose.

@eflé sauresdn@bd G mer a;a.nr&g,,é,]g)@m Qe Gu 2 drer Caad eparmy
Caumur(HEeneT eT(HEIs.

Write any three differences between Photorespiration and Dark respiration.

EMP aufigsLsdle uradvuflsyeno wpmbd uravGul Bésb du Neasafie
FHUOL AprdaeT wrena ?

What are the enzymes involved in phosphorylation and dephosphorylation reactions in EMP
pathway ?

srpflers seurflsgelen Heurg me iy wpigedel. erem ?

Respiratory Quotient value of Anaerobic respiration is infinity. Why ?

[ Hiys / Turn over
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u@# - IV/PART - IV

GSOILY : Semengg elamssEnda@n elenLweflésew. 5x5=25

Note : Answer all the questions.

34. (1) gwGumb Gfey euersliumiyemer efleuflsg, e Hlenp, @m;ga;maril umml
TRHS.
3|06V G
(<=}) QBPOWE] CTEDHTD TR ? DT CUMSH®ET LILSFILGT efleufl.
(a) Describe Five Kingdom classification. Add a note on its merits and demerits.

OR
(b) What is Aestivation ? Explain their types with diagram.

35. (=) W GurmAGLA GOBUSS TGagibd gbg AUI@ETTsT (PEALSHUSDS

T (PS5
ILAEME

(<) yCrrCaNCwr_BaEpsGw, WesACUN_RsEsgh QeLGuwrer
CaumurH&SeneT er(psis.

(a) Write any five economic importance of family Euphorbiaceae.
OR
(b) Write the differences between Prokaryotes and Eukaryotes.

36. (=) Oprdseflar LaTysmer UG WHS.
3|6060F)
() @oemgion samndEw. @6 dlostioas sarynEn oL Gu o drar
2 arereUbwe GCaumurBaamer er(pg)s.
(a) List the properties of Enzymes.
| OR

(b)  Distinguish the anatomy of Dicot stem from Monocot stem.
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37. (=) eACurevQuinbaaiien Lpdduemgp)ib R.emrgy L apenpuienen efleufl.
TNV
() GEpsGared eLwb wrhpe s urenguien Quuwir eremer ? ofled
peLQupib eNeeansemer efeufldaea,b,

(d) Explain the insectivorous mode of nutrition in Angiosperms,
OR

(b) What is the name of alternate way of glucose break down ? Explain the processes
involved in it.

38. (=) Slgtied sPHAuler eNeréaHriLL b LB FmHs.

D|6060G)
(=) eumy Hlevewufed o eirer greuy anmiGorer erg) ? 2igen curpeailwed Qewdsaar
TSI
(@) Give the flow chart of Krebs cycle.
OR

(b) Which is the gaseous phytohormone ? Wrrite their physiological effects.

~-00o0-
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